e

i

oty o

L At
.._”"1_-
==

==

=

T el A
3

SE Sl

L

_—

ey

.

!
N

}

MADE IN TAIWA

i

<

i ]

;

i

[

Ll

=

i T PRTel [

Jigad

¥




2% 7% Name of parts |

]
i

-

_ pea BE

i e

. piAE _ 
' s it

A==

. -

RS [

Hal




RIART

B
Safty Mode Sfa%ﬂﬁ;ﬁfd:e
iR IE R IR B B2 i e s
FEHEFEREK ZBESEIEN

Full-Auto Mode
HHERIEAR  FemEEast

SEMI-Auto Mode
H— R R AE S 5 — % Fi

5 OMNMBBAE 22 15 A [ BE A iH 8 28R ue T HF e G S A FL3E A
Fill 6mm BBs with loader. A% 58 B A SH O 5 A SRS E T s R Fill gas from bottom of magazine.
el
/SN2 XPRIER12kg FHR

FPush loading rod 6 times to fill around 30
Bbs into the magazine., (REEfGFEE:H GEE)



i R =

=T

e T et o
L L T

.=
e L i,

TSAIRER AT ZIEERERN, {E1et C R - i REREHER NEDA (OFF) , 1ieASRNSR T EAEE S -
XIESR (1) AEEEZIERIEILE, B28EF) - iRz ERsE_CR1/R (ON), iR tSBIBARN, BNoyEeEs -

A ERFEIEE (A) E2EHRI, ThEEHE - oS BRI E (R) B BRI, REFHE -
X}iR50 @ ARETURHEH, 55 NMREBICIERIBH -

-

SHZEHEFY  Rear

= ek —als

-
tRERIERIRAAUDIRIBPY, RRIBPSZCBHIEE HEESEMEE




0
.

o
:

T EE
BATRRR

e o
A N .
LS A )
£t

FR ETES

iFimsHEY T, Bl ol E T8 5

A HH S S ST

HikGE ERE7R, IR T /R IRE, RN oI BtfatE o Bt

IR EHE

G ~ e 5
ST e e
e %
e e
j N
,.J

REBD BESTRY



= XE [E

EXPLOS | ON

Rk EFEERE gE | R SHEERE gE B | 2 ESHE=EXEE =
1 [L85 LIS 1 62 |LBOIEHEIEMEEE 1 123 | L8522 5EFEARE EIT 1
2 |LBSRiEE 1 63 | LB5PEPSIZRE EH 1 124 | EE5ERAEN 1
3 |L85 AR 1 64 | L85BEPRIR @ T HyoEEE 1 1125 |EB5ERAEF = 1
4 |[LB8STRENR 1 65 |L8SRHETEER] 1 126 | L 85{RPEmhslf=z 1
5 |L85B5AIE 1 66 |LBSRITEEH 1 127 | LB85{RPE a5 dm A 1
6 |[LESEXRFI=S 1 67 | L85 ATEE BIEH 1 128 |L858i=:H 1
7 |L85iai 1 68 | L8SRHTSERIFHE 1 | 129 |L85¥mp{4 1
8 |i&%E 1 69 |L8SAATEERIFiE= 1 130 | IRHEEEHI= 1
9 |;E=8 1 70 |LBSR TS EERE 1 131 | L85BHEERN 1
10 | L85ERENRT 1 71 | L85 FE nit 1 132 |L85REiNEE 1
11 | L85FARNRIsR = 1 72 |LB5FEAREMEER 1| 133 |M2X10FgE 2
12 | L85 aEETES L 1 73 | LBSEREHEAEES 2 | 134 | EEATEMSX10 2
13 | L85 EEBBESRT 1 74 | L85 FEAREH 1 135 | M2X4+= 1
14 | EENFEIEHE 1 75 |L8SXEERIEEH 1 | 136 | SEBEM3X20 1
15 | 0IR156X2 1 76 || 85EE2REE TTiHEE 1 137 |[PIN2X10 1
16 |PIN1X18 1 77 | L85BRPSEH 1| 138 |BBM3X8+Z 2
17 | M2X4E88 3 78 |L8siEiRiEhiEEEEE 2 | 139 |PIN2X28 1
18 | BB FREE 1 79 |LBSIRICIH 2 | 140 [PIN2X14.5 1
19 | L85 TEEIR 1 80 |LBSIRIREFIRH: 1 141 | JZEBMSX14 1
20 |L8s55MEE 1 81 [PIN2X63 1 142 |M2X10+= 1
21 | LSSIEEEE 1 82 |L8hisitSHoesE 1 143 |M3X6+Z 1
22 |L8SRATEIREE)2S 1 83 |L85{RIEERE 1 | 144 |[M3X51E R4 1
23 |HOPUPE-F 1 84 || 85HEEESZEAP (N 1 | 145 |M3X101E{T9R4k 1
24 | A\E[E 1 85 |LBSiEHEIEIESSEE 1 146 |M2X3+= 1
25 |AEES.5 X461 1 86 |L8SHEERIES 1| 147 |M3X3IETTi&8%E 3
26 | HOPUPFE%EiE1S 1 87 | L85RETEEEEES) 1 148 | BIEEAI7EM4X6 2
27 | HOPUP#EE 2 1 88 |L85iEE@EMT 2 | 149 |¥EEBERATEMIX6 4
28 |HOPUPZEZZ4R 1 89 |L85EERERE 1 150 | SEEEMAXE 2
29 | HOPUPEE-Z 1 90 |L8SIEEEEHEE 3 [ 151 | ¥ EFEAITEMIX16 2
30 | FAERSIEIR 1 91 |LB85iPF 1 1520 | S£BE+SEMAX6 2
31 |LBSIRIBIBHE (B3l) 1 92 | L85IREE 1 | 158 | M5X60MMIRHH 1
32 |L8SEHs 1 93 |LBSINFEE 1 154 | PIN4. 5X16 1
33 | L85 IEERE 1 94 L85=EE_; 1 155 | RIS 2
34 | L85EHEEE 1 95 SMEm3] 1 156 | M4sB A EE 1
35 | L85tEBHi A 1 96 %ﬁ;ﬂ% 3 | 157 |M4E3EEE 1
36 |LB5IEIREE 1 97 | L85{% sl 1 158 |M4EBEBAfEE 1
37 | L85 FiESB5R8 1 98 | L8SHEIEREH 1 159 | 5888 1
38 | L85 A E: 1 99 | LBbikEEiE 1 160 | BEIIR 1
39 |L8oiatkiaan 1 | 100 |L85R5EH 1 1161 | [ES 1
40 |L8SRIEERE 1 101 | PrbESEHEE 1 162 | R 1
41 | L8SIEHEEZE SR 1 102 | AiHE 1 163 | RF9ES 1
42 | L85iEHE BT 2 | 103 |[IREEER 1 164 | RiEIEEE 1
43 |L85E1F 1 104 |IREFIEH/=EE 1 | 165 | RSB 1
44 || 85EIFEE 1 | 105 [iREEE 1 | 166 | BEAEEEE 1
45 | L 85iR K EIT 1 106 | Bf4x22 2 | 167 | BiE2E 1
46 | E302. Smm 1 107 | 2258 1 | 168 | #2128 1
47 |PIN3X7 1 108 | EESEFIEDZSiHEE 1 169 | B FHEEE 1
48 | B R ERIRH 1 109 | ImigcE s 2 | 170 | 2 ERERMHE 1
49 |L8SBIRBEER 1 110 | BB 1 171 |1. 502454 2
50 |LB5EHEEE 1 [ 111 | E5HE 1 | 172 | MeX58 I 5
51 |LB85i2iE 1 112 | B2 5ER0RAZE 1 1173 | L=EEaE 1
52 || BXEEEE 1 113 |1@%f 1 174 | £B5EER 1
53 |LBoEEEEETR 1 114 || 85 RIEIHET 1 175 | M3X20+= 4
54 | LBSEEEIRAl 1| 115 |EEZEAHER 1 | 176 |0BVZ3x1.5 4
55 | L8588PT 1 116 | L85k ke 1 177 | M2.5X123EBE+= 1
56 | LBoXESIRE 1 117 | L85t/ 1 178 | M3X5 B+ 1
57 |L85EE 1 118 | EFHEEEEE 1 179 | EE;PIN2X12 1
58 |L85hEPYIGEE 1 119 | 1812 1 180 | EEERIRFRE 2. 5X5 2
59 |LBSEES B 1 120 |IpBEEE = 1 [181 | LERBHER 2
60 |L85BEPSIRES 1 121 | IBERERHEM2. 5X6 4 | 182 |#@ih4x16.5 1
61 | L85EREHERE 1 122 | B85 1




= IE B

EXPLOS | ON

-
123

122{;[5;”

121 21 o
T

~o113 : 136




S

XL
=

PREEA12kg B A
(R22 / Green gas)

(e
. BREHRESmERERE

(Never store the Magazine above 40C)

@ am AR NIR
(Never place it near fire)

am Z) 724 H R
d (Never place it directly under sunshine)

[ Caution! /\ VORSICHT
A PRECAUTION Ausschiesslich fur diese Pistole bestimmte
NE PAS UTILISER D'AUTRES Munition verwenden.(6.0mm Kunststoffkugeln)

PROJECTILEE QUE CEUX FOURNIS. O Fare attenzione

o Yo G BRI i A SRR ] 8

[] Be sure to wear shooting glasses or (
Goggle when shooting.

A Toujours porter des lunettes de tir ou de protection
quand vous tirez.

/\ Zum Schiessen stets eine Schutzbrille tragen.

B Asegurese de llevar puestas las gafas de proteccion

cuando dispare.

(O Assicurarsi di indossare lenti di Protezione quando
sl spara

Yo A~ B AR T v
(N EANEI Y i ) el

[1 Put the gun beyond the reach of kids.

A& Tenir hors de portee des enfants.

/\ Pistole immer kindersicher aufbewahren.

B Ponga la pistola fuera del alcance de los ninos.

(O Tenere fuori Dalla portata dei bambini.

K AN RS BERL A
[ 1 Don't peep at the muzzle.
A Ne jamais regarder

dans le canon,
/A Nie in den lauf schauen.

I Jamas mire por el canon
(O Non guardare mai dentro la canna.

x
1 Don'taim at people even if it is unloaded.

A Ne jamais viser quelqu'un meme si votre %ﬁ
i st g

pistolet est vide. ‘%? £ 3
P Sl \ ‘:h__-.‘__h'

/\ Auch bei spiel-und Sportwaffen besteht u;: T
Verletzungsgefahr. Auch ungeladen nie lﬁ_ H_L)
auf einen Menschen oder ein Tier richten!

M No apunte a personas, incluso descargado.

Yo SHIRAGEEI] - PR LAUm LS
e R B ERAT
] Don't touch the trigger until the
moment of shooting.
A Ne jamais appuyer sur la gachette le rearmement.
A Abzug erst dann beruhren,wenn Sie  zum Schiessen
bereit sind.

B No togue el gatillo hasta el momento del disparo.

(O Non toccare il grilletto fino al momento di sparare.

D MNon puntare mai verso le persone anche se la pistola
* EE BBy 5

scarica.
M
1‘3“" ,\E,\
HEEFE IR LI EE —

|1 After making sure that there is nobody nearby
A Toujours etre sur gu'il n y a personne dans
la trajectoire de votre tir.

FAN Vergewissern Sie sich vor dem Schiessen stets,
dass niemand getroffen werden kann,

M Antes de apuntar aseguese que no hay nadie cerca.

(O Assicurarsi semper che non ci sia nessuno sulla
traiettoria di tiro.

F BT ETHE
I[T] Avoid a rough operation.

A, Ne jamais jeter le pistolet \
quand il est arme. - i
/\ Geladene Waffe stets mit Respekt s

Behandlin. Nicht werfen oder unsanft Jandhaben.
B No tire ni lance la pistola, se puede disparar.
(O Evitare azioni brusche.

WEHEAE ) 72 AR, T F X Wiy 08 2 R AR E A F kT AR FLETIEEFR

1 Miss handle the airsoft gun may condition serious injure or death. Please read the safety instruction before use.

K AR - FERRER © T 5
[ 1 When the gun is not in use, remove
the magazine and unload BB pellets.
A Quand vous ne I'utilisez plus,bien
Faire attention de retirer le chargeur

et de le desarmer.

-l
a G{:"\:-q.q
/A Zum Aufbewahren Magazin entfernen und ©&c¢

Kugeln herausnehmen.

B Cuando no se este utilzando la pistola, saque
todas las bolas.

(O Quando I'arma non e in uso, estrarre il caricatore
e scaricare i pallini.



	1
	2
	3
	4
	5
	6
	7
	8

